Muclear Homework Name:

A, Write the complete nuclear equation. 2. The following atoms all undergo
1. The following atoms all undergo beta decay.
alpha particle emission.
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3. Given that the half-life of carbon - 14 is 5730 years/Consider a sample of fossilized

wood that, when alive would have contai t;' ' :fc carbon — 14. [t now csntaﬁ%ﬁ gi"’iﬁ;
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of carbon ~ 14. How old is the sample? + Y2 = 5930 4r
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4, 4 gsample of germanium ~ 66 is left undisturbed for 12.5 hours. At the end of that
S}—ﬁv period, only 2. G g yemain. What is the half-life of this material?
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5. 1.000 kg block of phosphorus — 32, which has a half-life @ns stored for 400.1 3 TT

days. At the end of this period, how much phosphorus — 32 remains?
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